fit region study
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data set

- cut the old data set by upper rate to reduce the
excess between Ka and Kb

- gain correction parameters are calculated from
upper rate < | kHz data set.

- all 2nd cycle runs, self trigger, sdd|

fit

- local fit by simple 3 gaussians and background



l 2 3 4
X"2/ndf 1.08 .10 .20 Ny
——» mean 4509.4 + 0.3 [ 4509.3 + 0.3 | 4509.2 + 0.3 | 4509.2 £ 0.3
sigma 634+04 | 638+04 64.4 + 0.3 64.5 + 0.3
X"2/ndf .14 .18 .35 .34
mean 7477.6 £+ 0474774+ 04 (74769 +04|74769 £ 0.4
sigma 72606 | 732+0.5 740+ 04 739104

— i mean doesn’t move.

N

from this region, Ni values are
jumping because of the lower
side tail.

Ni lower side tail can pull the mean ~0.7 + 0.6 eV

Ti

Ni



| out_calib_part_sdd1 | 2/ ndf 81.88974/76
Prob 0.3016442
L T ' T "l Kat Mean 4509.442 = 0.324
; : : BGa 2239.499 + 176.652
9000¢ BGb 0.06391687 = 0.03482927
: Ka1Kb_ratio 1.665383 = 0.035601
8000 Fano 0.2558293 = 0.1360453
3 Ka1 Sigma 63.39869 =+ 0.43099
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sorry the range of the residue plot
is not same as the top figure.



| out_calib_part_sdd1 | %2/ ndf 89.47234 /81
Prob 0.243299

Ka1 Mean 4509.347 = 0.320
: : : : BGa 2003.969 = 122.905
e ................... ..................... ............ BGb 0.1094382 = 0.0247133
E Ka1Kb_ratio 1.671321+ 0.035227
8000:_ ................. ................... ..................... ........... Fano 03022957: 01379099
e Ka1 Sigma 63.82534 = 0.37291
- : : : : Ka1 Height 4659.072 = 24.554
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| out_calib_part_sdd1 | x2/ ndf 111.1552/93
Prob 0.0965548

T T T T " Tl ka1 Mean 4509.194 = 0.316

- 5 BGa 1702.606 = 79.009
e s il BGb 04679023 + 0.0166552

: : : : : Ka1Kb_ratio 1.678884 = 0.034884
e R S [ W e - Fano 0.3529916 = 01420480

- : : : ; Ka1 Sigma 64.42949 = 0.32587
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| out_calib_part_sdd1 | %2/ ndf 117.3454/106
Prob 0.2123084

T T T T T " 7] Katl Mean 4509.174 = 0.315

- : E _ _ BGa 1665.948 = 62.052
9000 [ R S - — — BGb 01751019 0.0135608

e Ka1Kb_ratio 1.679486 = 0.034853
8000—_ ................. ................... ..................... ........... Fano 0.3563565 =+ 0.1424501

- ; ; ; : Ka1 Sigma 64.49834 = 0.31414
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| out_calib_part_sdd1 | %2/ ndf 122.9653 /108
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Ka1 Sigma 72.58044 + 0.55178
"] Kat Height 4115.286 + 23.895
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| out_calib_part_sdd1 | 2/ ndt 169.0587 /143

Prob 0.06745829
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| out_calib_part_sdd1 | %/ ndt 213.6108/ 158
Prob 0.002127481

SN LR DL DL LA UL B et R et 7476.937 = 0.381

9000 __| .............. \ .............. . .............. . ........... . .............. \ .............. BGa .3281.486 « 38.662
Co { Bab 1.668375 = 0.006922
8000:— O0R VOO SO S Ka1Kb_ratio 1.489933 = 0.032482
- { Fano 0.1468125 = 0.0955974

Eo : : : : Ka1 Sigma 74.02273 = 0.39730
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= Co 4 { BGc -0.0001151591 0.0000005946
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tail excess appears



| out_calib_part_sdd1 | 21 ndf 191.6097 /143
Prob 0.004151349
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- { Bab 2.780158 = 0.007466
8000:— .......................................................................................... Ka1Kb_ratio 1.496506 = 0.032418
- { Fano 0.2105144 = 0.1010590

Co Ka1 Sigma 73.91951 = 0.39946
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